SUR-LOCK HINGE-SIDE DEADBOLT INSTALLATION INSTRUCTIONS Part #: 7908-01 (090308)

Step 1: With the door closed, measure from the bottom of the door up 39 % inches and make a mark. Make
the mark on the inside of the door (hinge side). You will use this mark to position the paper template.

Step 2: Fold the paper template along the line indicated. Place the template against the door and the door
jamb (inside hinge side) at the 39 %2 inch mark made in the previous step. Using a center punch,
transfer the 2 center marks to the door, and 1 center mark to the door jamb.

Step 3: Using the 2 center punch marks made on the door, drill ¥4 inch hole all the way through the door
making sure the holes are drilled level. Using the 1 center punch mark drilled in the door jamb, drill a
small pilot hole and then enlarge it with a 9/16 inch drill bit.

Step 4: Refer to page 15 of the Sur-Lock Installation Instructions to assist in identifying correct parts. From
the outside of the door, install the deadbolt mounting plate (item 5) using the two Y4 inch carriage
bolts (item 3). Push the bolts through the plate and the door. Place the deadbolt (item 6) over the
carriage bolts and secure with lock nuts (item 3). Now locate the bolt plate (item 8). Remove the
paper backing and position it so that it is aligned with the 9/16 inch hole you drilled in the door jamb.
With the plate held in place by the tape, close the door to check the alignment of the bolt plate and
deadbolt, making sure that the hinge side deadbolt pin moves in and out of the hole freely.
Important: the hinge side deadbolt pin should penetrate the bolt plate 2 inch. Once aligned
properly, secure the bolt plate to the door jamb using 2 of the self-drilling screws (item 9). Open and
close the door making sure the door operates freely. Enlarge hole if necessary.
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